2021. 10 KEIHALLY

SLC=RE—L—25T DI

10818 (&) FIRR—=T LA 10H168 (1) JLBC A% (3F)
b—F A2k (3F) (FERER. 4G, RISYF)
(BB, 4G, £740%1VT) B 13:00%f4 13:302 94—~
3] 13:00%4% 13:30R4—hk SmE 2,700/
SmE SLC 2,600F SmMERK JLBCR&-JLBCHR—4—RE
A -—f% 2,800M ERAMITEHMETT
BSmMEH E1xt=TH
B RIFMA—Ly—FITT 10A16H (L) EREXIOFYLITF—F AR (3F)
(BER. 4G, 24V nvT)
10A28 (1) Tz— LD (3F) | 19:30%21F 20: 0034 —h
(58, 4G, 474V bnvT) ek SLC 2,900H
B S 13:00% 4% 13:30R%—hk AA - —#% 3,100/
e SLC 2800F‘:J A -—fi% 3,000 BSmMEHK E13t=TH
SMER ERT KRB RBAGITY
_g_lir'ﬁz—»a)Em’r—#— BEFTY,
10A178 (H) FRERIOFVYLUT (3F)
10A28 (L) TAKAO CUPTRF¥LIT(3F) (FR 4G A24VxnUT)
(BB, 4G, £740%1VT) B 9:30%f 10:00R 42—k
B RS 18:00% % 18:30R 42—k SmE SLC 2,900
SmE SLC 2,900F9 A ~-—f% 3,100M
AA-—f& 3,100M SMER% Elf=T
SMER ERTH KR4 HREARITY
SARIRBERETOIFYLODTY
SERES1 4 HREAAHl. 108178 (B) hREEIOFvLoT (3F)
(BER.AG. 24V nvT)
10438 (A) HIMABYIF L SF—F AR (3F) RS 13:005% 1% 13:30X 48—k
(AFB.AG A 7400MnUT) SmE SLC 2,900
355 10:00% 4% 10:30R%—hk AA-—f% 3,100
SmE SLC 2,900F9 BSmMEHE Elif=T
AA-—f% 3,100M SEES6RREAFITY
SMER ERTH
B ERAAH TS 10A18H (A) BT T (3F)
(AFR. 4G 17402 bnT)
10A3H (H) AR x W TAF¥L T (3F) B 14:00% 4% 14:30R 42—k
(AFB.AG A 7400nUT) SmE SLC 2,600
355 12:30% 4% 13:00R%—hk A -—f% 2,800M
SmE SLC 2,900F9 SmMEH Elif=T
AA-—f& 3,100M EREITERBRTHTY
SMER ERTH SR 204 R EARITY
MNIERTD, MREETO, FARTO
HFM70, L FETO, RARETOSM 10A22H (&) EBIOERITES !
SEEASEIRAAFITY ~—7FA2k(3F)
(AFR. 4G A7400MnVT)
10A4H(A) AEBOT7I2X="T A B 13:005% 1% 13:30R 48—k
b—F Ak (3F) SmeE SLC 2,600
(BER. 4G, T2400 VT A k- —H% 2,800
B 14:00%:4 14:30R5—F SmEE Elt=TH
SmE SLC 2,600F
Aq k- —f% 2,800/ 10A23H (L) REKKECUP FOREFIAEETES (IF)
SMERE E11=TH (BEB. 4G, 7405 nVT)
BRETVLFAASTHEOMSVLFITY B RS 10:005% 1% 10:30R 48—k
SERE20R HRAARKITY SmE SLC 2,900F
AAk-—f% 3,100/
10A8A (&) IERETOFALOSR—F AR (3F) SMEE Erf=Th
(BER. 4G A 2VANIT) HREKEHEKENYRVBERTY.
B 13:00%ft 13:30R 45—k K2R BRRIAKTY
SmE SLC 2,600F9
Aqh-—f% 2,800/ 10A23H (L) RABAZVITFRUOSF—F AT @)
SINEE ERI-TE (BB AG. A245000T)
B 13:005% 1% 13:30R 48—k
10A9H (L) FOAEFIOFvLOT(3F) SME SLC 2,900
(AFBAGL A 245 MNUT) A k-—f% 3,100M
B 13:00%ft 13:30R 45—k SME% E131=TH
SmE SLC 2,900 AR IRAIARITY
A k- —4# 3,100
SNERK EN1=TH 10H23H (L) AS—EF¥LT(3F)
564 kAR TY (AR, 4G, T 2YP VT
B 21:00%24F 21:30R 44—k
10498 () BHRIFUSFL ! Smé 3,000
HTIWAR—F AUk (3F) SMEE E131=TH
(RTEDHAER, F—LTIG) NS—EUHNE - TE10BOVThhzeybshi-LE(c
B8 20:30%2 % 21:00R % —h ASAEHTEERE#E
BmE F—.1.T6,600M
BMER 28 145 f-TH, (BRTHAAFI) 104248 (H) AR ERTAF L Oh—F AR (3F)
MR EEDOF TILRIG (NERB. 4G A 2RnIT)
BEIGIERNYTFHTIRATY  EMATF—LEARK, B RS 13:005% ¢ 13:30X 48—k
SmE SLC 2,900
10A10H (H) :ﬂﬁi%? AFvL > Oh—F AR (3F) AAk-—f% 3,100/
(AFR. 4G A7400nVT) SMER% E131=TH
355 13:005% 1+ 13:30x'5!—|~ SERESAR R EARITY
SmE SLC 2,900
A k-—fi% 3,100 10A25H () 202TERDILVFO YT RE (1IF+3F)
SMER% EN1=TH 108290 (&) (DB ANTF—LFI AN X3G=12G #7242 hnoT)
SRR R EAKITY B RS 13:005%1F 13:30R4—k
Sme F—/.T9,200M (1.A2,300M)
T0A108 (H) ZARACFEZ(1F) BINERE B — 'Jé%nu%u\rasqammwu
(FEAER. 3G. BEEXHYFEEA) 250 () [R5 #M8F — L (3FEDF) EAA I
B8 17:00%f+ 17:30R 54—k 29H (&) [F5#20F —L (1BE8F—L, 3pE12F— L) HHAK
BmE SLC 2,500M REE29H (E) R THRITVET
A -—H% 2,800M
$a1=7 2,000M 104308 (L) FRU—C159LL FBE
SR LWLV T avERIFILRYS— b—FA2 R (3F)
BRRA—L—2TaZT 5T 24U L E (AFR. 4G A7400nUT)
HUYT7LTWSRYS— B RS 12:30%2 1+ 13:00R 42—k
M2 REARITY ek SLC 2,900F
AA~-—H% 3,100
10R11H (A) BERERM (3F) (BE BRERIE) BMER FRL—S159LU T DA
(BFR. 4G, T80T M4 REARITY
B A 14:0052 1% 14:30R2—k
BmME SLC 2,600 10A30H () SECH (3F) (R EHEE) |
A -—f% 2,800M (AFR. 4G, 17400 nVT)
SMERE E1=TH B RS 13:0052 1 13:30R4—hk
HRERTEES ITY, e SLC 2,700
S48 HREARITY A k-—H% 2,900
SMERE E1f=TH
10A158 (&) FIEX—=VT LA HREIC1—R-E—)L-RAEF 1TT,
r—F 42 b (3F) S M2ABFHABTY
(FR. 4G, 1242 nVT)
B 13:00%21F 13:30R4—h T0H30H () BIRRZVIFRLOSF—F AR (3F)
SmE SLC 2,600 (AFR. 4G A7400nUT)
A ~-—f% 2,800M B A 19:00%fF 19:30R 42—k
SMEHE E1=TH SmE SLC 2,900
BRI ¥3—4 1Ty AAk-—H% 3,100/
SmE E131=TH

5‘&1‘468#%*:&#]’("6’




